EAGRAROBREERT — 2 N— ABISH —F

202056H4H (K) 5EIEHMHSH

FHc2— v5x4mt

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[A&<%] 1 7% :1,000,000 § ~ 2 7&:280,000 " 3 7&:140,000 4

4 7% :100,000 B 5 & :80,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
5 46 | JIRE— 1:30.2 1-1-1-1 | 40.5| -— 2 496 | HRFMER (FEHH)
1 7 "7"’\"7~I‘ 54.0 (=) (-2) e
L:T77NT5T B:3a¥ T HE
o S _ ft 6 | BEHT 1:30.2 6-5-5-4 |39.7| — 6 449 | RAY (FEh)
olgl11|V1v¥a/—+ 54.0 (7€) © |TrEsZ
R:d—IWK7Ya—Jb B:FA4 b AT RY—L J—HrTp—L
; t 5 | EREE 1:30.4 3-3-3-3 |40.3| — 3 489 | AT (FEf)
3l7l9|FVERTIL— g 56.0 N (45) | R F—-23
LTANWNGTFY— BTz A—ITIb— pelrie]
4 5 | TRE 1:30.6 7-7-7-5 [39.9| — 4 482 | ALEFEGA (FEHH)
4|5l T—YZR 54.0 () (+6) | AMEBREL
L:29)—>ke—0—- B:YI57—4H Bliikae]
S ey = s ALEE :30. 00— . - KIFER (FlH)
5 8 TIAYTF 4L 4 4 Zh 1(310)8 2-2-2-2 | 41.0 1 ;1_512) e
L:WypOAYIL B:HI/I5A BH T
= #10 | NERAF 1:30.8 1-11-12-9 | 39.3 | — 8 490 | XEF¥Z (EM)
6|55 F>71xx4 56.0 (7€) (1) |#) A—LFAZ pEE
R:xAIZT7—X BUAZTILT 4 — aiutie
s 4 o4 | FEHX 1:30.9 9-9-9-8 |39.7| — 5 451 | FERE (ER)
IR ES AT kS 56.0 By Ly |FHEE
L I-V 2 AE—4— BI-Y>TyFx— ESiTie]
# o8 | EfmEE— 1:31.5  |[12-12-11-11]39.9 | — | 12 | 456 |=AY (k)
EH 3 A=) 56.0 (31/2) (-4) FHIERI
L:ZAN—3I2FFR—L B:¥a—bkNCFR H—L— - JvX> - T7—LARS
N B o6 | FEEM 1:31.8 8-8-10-12 | 40.6 | — 1| 469 |/VIEt (EM)
9|7|10| B2 AN—T = 54.0 (1 '3/) (a) | EIREGL
RHIITTLIFL N BiEa-TavULS w77 — L4
© =5 r2mfEA :31. ~5-6- . — RARK (BR)
10 4| V- KxOF 1 — i 4 i 1(7333 5-5-6-7 | 41.3 9 (4_241) fas
L:x+Trobhw—L B:U—KNAY BT 7 — L
—n . Fihi— . -10-8— - HEEE (EMA)
111812 Framsayrx # 6 e 1(.33/%4.)0 10-10-8-9 | 40.7 10 g:) gt
LIV ATA—h— BFTITLAR =]
: £ 6 | KHFH 1:32.2 4-4-4-6 |42.2| — 7 461 | KRR (FElH)
EH 2| 7= R &% — - 56.0 (3/4) (-2) RERESF
L:TLTANIVE B:vX¥ I LINSEAR EialllkArakaed
® I —F—@EBIERL
13=zr= 7,8,9,2,4,11,6,10,1,12,5,3
23—+ — 7,8,9,2,(4,11),6,10,1,12,5,3
Gal=7r= 7,8,9,2,11,4,6,12,1,10,3,5
43—+— |(7,8,9,11,6,2,4,1,(5,12),3,10
[ RN
B OB 7 340H 714K 7-11 1,010H e & 6-8 900M 3ER 7-9-11 3,850
7 B 7 210M 7-9 4901 | | B = 7-11 2,910 | | 3EE 7-11-9 21,510
1" 350M 9-11 1,010 B H 7-11 3,930
9 210M

ARICOVWTRDTEEERROODE. TR LI,




